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WRITTEN PRACTICE ANSWERS

1 
1 __ 
3
 

2 $32.50

3 21 students; 75%

4 a.  10 pins 

b. 6 small squares

5  8.0 

6 a. D

b. B

7 
10 ___ 
12

 ;   9 ___ 
12

 ;   1 ___ 
12

 

8 500 centimeters

9 80 mm

10 13.45

11 900

12 0.37

13 118,404

14 $17.50

15 $1.75

16 2

17 
2 __ 
5
 

18 8

19 52

20 1  2 __ 
3
 

21   81 ____ 
100

 

22   8 __ 
9
 

23 4

24 30 feet

25 183 days

26 a. 6 faces

 b. 12 edges

27 −5°C

28 a. 13 children

 b. 9 children

 c.  Some children (8) have 
no siblings.
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WRITTEN PRACTICE ANSWERS

29 a. See student work.

b.  Sample: A little more 
than 2 hours; a rate of 
22 miles in 30 minutes 
is equal to a rate of 44 
miles in 60 minutes and 
88 miles in 120 minutes.

30 430 miles
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